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Part- III 

ECONOMICS 

Maxim urn : 80 Scores 
Time : 2% Hours 

Cool off time : 15 Minutes 

Generd Instructions to Candidates : 

I 
K-45 

~ There is a 'Cool off time' of 15 minutes in addition to the writing time of 2Y:! hrs. 

0 Yo1.1 are neither allowed to write your answers nor to discuss anything with 
othm.'s during the 'cool ·off time'. 

6 Use the 'cool off ~ime' to get familiar with questions and to plan your answers. 

® . Read the questions carefully before answering. 

~ All questions are compulsory and only internal choice is allowed. 

~ Vrt1.en you select a question, all the sub-questions must be answered from the 
same question itself. 

e Calculations, figures and graphs should be shown in the answer sh~et itself. 

® JVIalayalam -:ersion of the questions is also provided. 

® Give equations 'Vvherever necessary. 

® Electronic devices except nonprogrammable calculators are not allowed in the 
Examination Hall. 

® ml&g1o.sfs \ruO)COJ®Ol1m oJZ,OflCLI 15 m1m18 'cfbJciD 63~n.d' 6)6)So' ~6nS:::>mJlco1c:eG),!,o . gQ'D 

~JJmWamr.l (il.!lJ:::>Gj608ciD~ ~(ffl)COo n.ffi196®:::>~m:::>, m~rucot.m:::>mJl <U'@CRlW oJlm1mcwo 

· ' ffiS(O'(O):)<llffi:::> oJ:::>S1~. 

® ~Wo1ro6W:3oU O{j)l96®6cmell:ilm ownJ GlilJ:::>Bjt>WciD f@)BD:::>oJ6iO<)do ru:::>mJlc:e6)6ffio . 

" Offi~<P t8.2.J:JGj60T3ciDcB6">6o @,(DmCOo ntl)':?6®6ffio. 

("g) 6306 <lll2JOGc)C!lOlJt:0 @_<0@C06)ffi'f'J,COXXYD 6)((5)C06)6'1'liTIDS6(l}(l))J, cfbi:PJm:::>ffi'O ~oJ ~.!l.l:::>Bj608g32p 

arro &W! Glill:JG,J mcruC?J1ml m1cm (l))6)mJ 61®C06)6'1'liTIDS6~c:e6)6nS®:J6T'li'. 

~ cfh61TJo%·) oS)~§I?J6&7.lcfD, Dlll@60T3ciD, lWOn.Ot.cfbciD, nB)rm1ru §l(lf(l))CO ~oJCJ:j01affi(l}(l))6)ffi) 

~6fiS:::>CQJlaJ1 £86m o. 

0 @'@)ClJClbJffi~}§. CIU.Oe.!miD <rumru:Jcmc)6m3cfl> 61o.%JSJ,c:e6)6ffio. 

@I Qlill8Gj615BcJb ffieJWO~(Ol1l)1eJ6o ffi~cfb1m51§66'T"I'S". 

@ CZ(0.J:JL(J)8Q)J,£ci0 6).QJ~Jffi :)cfu:)(l}(l)) cfu:Jm'Oc006~eJR06cfbciD 631916)cfb('QJ6§g 63C06 

g;QeJd~ lS:J6m1 ce:;· ?lo..J cfb(()6ffi0Jd o oJ coi cfu'l1:Jn.O:::>gl am ~oJ ~('QJ:::>W1 c006ClJ ::>em oJ :::>S1~. 

1 (P.T.O.) 
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L Match column A with B and C 

A 
. 

a) Sen sex 

I 6l<TU®6lcru&bm> 

t Economic · ihfrastrucfure 

cruocruwrm1ce, mms1m.uKlm <TU'::lcB.>roJo 

Secondary data I c) 
I 

L-~-
6lcru~®cwo1 cwo8 

d) Small-scale industries 

6l..QJ 0 6<fu 1 S OJJOJ <TUOCID6lffiW 

e) Fiscal policy 

I wmmCIDo 
L_ 

2. Dtfvelopment of infrastructure 

during the colonial period can be 

considered as a positive 

contribution of the British. Analyze 

this statement. 

:3 . Data represented through a 

histogtam . can help in the finding 

graphically the ......... ........ . . 

a) mean 

b) mode 

c) median 

d) standard deviation 

R -45 

72 6 

(5) 1. <ll<fuO@_o A (i)(Q) B CID.!,o c C<;)) 6ffiO<W1 

<llCID0@61~~6<fu. (5) 

B c 

Taxation Transportation 

m1<fu6@1 .!l.160lwrmro'6 (,1)@0(f)@o 

Website ' Karve Committee 

6)~mJ6l6lcru8 : cB.>OC06l(lJ dha:i!l181 

Share market 
1955 

630nD(()1 oJlnJ6m1 

Energy Public expenditure 

I ~'::JCOgr;Jo 6lnJ0@.!, 6l.!l.leJOJ" 

--1 
Nifty Newspaper 

m1n.d's1 ruromwmom CLil®o 

(3) 
(3) 

3. .. .. ... ..... : .. .... 6lffi lWOnil1eJ~6lS m1ffi6JMCQJldl-6)0<fb 

nn1<XWPlWOo <TUnD::>CID<fu(I)Ol06ffi. 

a) Qli®. 

C) QliCW1CID<fb 

(1) 
(1) 

2 



4. The government and policy makers 

use statistical data to formulate 

suitable policies of economic 

development. Illustrate with two 

examples. 

5. Given below are the seats won by 

different political parties of a state 

assembly election. 

Political parties 
A 

(2) 

B 

ru1 ce:, rro m (OY0)1 mow 6~ 

~..01((5) mow m w G1iB cf6 co J oJI ca, cn1 ce6) 6 cu o em 

c'ru o o 6lJ J ca, B (6"(1!) 6lJB ciO ~ a.J ~ w o w1 ce6) 6 ® 6. 

~BOo.OC06TD ()l)o.01®o <l.JJc£l®Cl.lYG006cfu. 

· 5. 63C06 m>o<mno.m a!'r?!.<f~p6nJgl . ~e.J&bctl1m1am. 

ru1ru1w cooctl1\s"lw ·,ruo&§1<B>u7> ~ms1cw 

c D E 

Seats won 
75 55 37 I 29 · . 10 

I] m Sl w m51 rnca,cfb · I 

------------~---~-·~~~--~'------~'-----~ 
Draw a. simple bar diagram to 

represent the polling results. 

6. How do the _ following factors 

contribute to the environmental 

crisis in India? 

a) Global warming and ozone 

depletion 

b) Reduction of forest coverage 

c) Rising population 

d) Air and water pollution 

(2) 

- .r . 

b) rum mwlc:fuco6mo 

d) OJOW6 

(4) 
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(2) 

(2) 

(4) 

K-45 3 (P.T.O.) 



7 Prepare a frequency distribution 

t able by taking class interval of 5 

for the following data (exclusive 

method). (5) (exclusive method) 
,---------------------__j'----------------~---- - ----- -----, 

8 

K-45 

The following data shows the marks 

obtained by 50 students of a class 

in a test. 

Find the arithmetic mean, median 

and mode: 

OR 

Prepare a seminar paper on the 

several statistical measures of 

central tendency or averages and 

explain with relevant equations for 

individual series, discrete senes 

and continuous series. 

(8) 

(8) 

4 

726 

(5) 

(8) 
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State whether the following statements ®06l'9 <mcm1co1cB£)6(m LnJ'h\lOOJmc£hcm ooco1'ClCQJO 6l®ClRO 

are true or false. (Q. 9 to 11) 006lcmY'c?,®c?,c£h. (Q. 9 to 11) 

9. In India, inflation is calculated by 

using the wholesale price index. 

10. More than half of the work force in 

India be longs to r egular salaried 

employees . 

p .1.. The \V.T.O \Yas founded in 1995 as 

the su.ccessor organization to the 

GATT. 

12. The Green Revolution and the land 

r eforms are the two measures 

c-c dop ;;ed b:'l t he policy m akers of 

independent India to resolve the 

problem of agricultural st~gnation 

in India. State the features of these 

(1) 

(1) 

(1) 

two policies. (5) 

13. The following data shows daily 

wages of 11 families : 

K-45 

i 

' 20, 25, 29, 30, 

Compute t he range and quartile, 

deviation . 

35, 

(4) 

5 

9. nJ6TD6l<JjCO.?,<Jjo am>~cOO.?,cm<m1m" . &J2Cilj),)CQJlco'O 

6) £Do wrm oJ1 e1 au ~.p_Jl c9:J c9:J em g?_ nJ Cl CQ) 6 m1.!?z16 

10. 

11. 

39, 

&12 ('(0) d CQ]] 6l.eJ nJ 6TD1 c00 o co1 co1> nJ c9:J 6 ®1 CQJ1 co1> 

c£h~Sc?,®co'O ClnJffi.$0 cruo1roo Cll>m.J~cOOOCOOGTrl'. 

1995 co1> (/)0§1ffi6 n.Jcfucoo CleJOc£h OJJOnJOCO 

rruone.~sm (W.T.O.) m1eJoJlco'O rucmc?,. 

nJro1onco1cOO.?,cm<m1moCQJl 15co6ffiow1c£hoco1c£hcm 

rru]lc£h<n1.!?z( roGnS" msnJS1c£h~06ffi" nnro1<m 

oJl~OJOJ6o 15JnJro1nS:l"c£hro6TDOJ.?,o . &J20J 

ro6l'l'§ilQ)~CQJ.?,o LnJCl~Jcfu®cfucin 00Y'c?,@c?,c£h. 

41, 48, 51, 60, 70 

(1) 

(1) 

(1) 

(5) 

I. 

(4) 

(P.T.O.) 



14. Mention three t echniques for 

studying correlation. 

15. While explaining the importance of 

education, your teacher says, 

"school dropouts are giving way to 

child labour." Discuss how this is a 

(3) 

loss to human capital. (3) 

16. It is noted that the development of 

rural areas is fo r India's overall 

development. Prepare a seminar 

paper on rural development and 

the major issues associated with it. (8) 

OR 

Prepare an article regarding the 

importance of diversification into 

productive activities to reduce the 

risk from agriculture. 

(Hints Animal husbandry, 

Fisheries, Horticulture, other 

livelihood activities) (8) 

17. You are asked to conduct a survey 

to study farming practices and the 

problems facing farmers in a village. 

Frame five two-way questions to 

include m the questionnaire 

(with Yes or No). 

K-45 

(3) 

6 

14. (fl)nD6Yllmuwo nJ01c006cmC6l1m6§§. ffiJcrrf 

ail arnc:e,cJO ffi) J!Lfl~~ 6c:fu. 

15. mm6n5:1,) · DlJeJWm <TUJroJnllc:furoGmarrm1Clffl 

. o.JlB,)O@,)O<TUarrm1@~ lnJOWOffi,)@{1)1lj)c0060lgl 

nJ 01 CJ:j 1 .Dd:, 6 6) c:fu 0 GnS 1 (\) 1 cOO 6 <:: ffij 0 cfO ' 

CG/D BJ.) J 0 nJ1 c:fu 11 ffi)u c:fu J~ 1@ eJ 6) c:fu 0 '916'mm 6 

<::nJocfr6)' 6YlJOeJ a:rueJ CQJ!a:eJc£}6) mCQJ!c006cm6"; 

g;Q®u Dlffi6n5:1~ Ql~eJwm ro~nllc:furoGmarrm1mu 

ru ro6 arrm1 ru mr c00 6 em m o9:r so .2.1 &-8J 

@.!)j ~c:fu . 

oJl c:fum:J m arrm1 m l (J)O Ql6lJT3~ @S oJl c:fum:Jffi o 

®O®,)OQJOO,)DlOGffi. l(J)Oroiom o.Jlc:e,crumru6o 

®D ® 6Dl o w1 m1m.u @<J:j 3 ru o B Dl6 6LJ 6lJT3 ~6 o 

Cl{j)ffi1®1@m <ruo6YlJ<n.U1-8,ju 63ffi6 @m:Jro1moro 

ClinJ<J:jib a5l<gj000c006c:fu. 

c:e,offin'l11c:fu a:m6LleJ<nJ6@s ru~m.s~ w"c00u 

@@QJo.llW,)ru®c:e,roGTDo ~QJOO,)roOGffi. ce,~~ 

®<lm66rum.u LnJru&arrmm60'B@~ c:fu60lg,:j" 63C06 

<::eJ6Llmo ®~OOOc006c:fu. 

(cro~~m: ce,cm6c:e,oeJ1 ru~roarrmco'B, 

nn1n'l1oim), nJ'9o-nJ.g,jc0001 c:e,~o9:fl, Olf16 
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(3) 

(3) 

(8) 

~oJl~®OnJOw1&hcfl>). (8) 

1 7. m'l~>m ~6 6) s l (f) 0 Q) cm-J16) eJ c:fu 0 ib n5:11 c:fu 

roi ®1 c:fu@ ~<Ill 60 c:fuibnS:l c:fuC06@ s lqj (/()u m 6lJT3 

@~<nl6o dh60lg,j" nJo1c006ruomoCQJI <r>160Bcfl> 

63ffi6 cru&!X<}d msmm6cm6 O{l)rmu cfbffi6®6c:fu. 

co 6n5" ~co-rm ro 6m3 cfl> Dl o l ® o ru ro 6 em 

( rowGffi-®<l~ ®C>tnruo ooro1-@®P,) cm~6ml6 

<l:.!lJOB,)61lB cfl> <l:.!l.JOB,)OQJ eJ1<nJ1~ 

~ciO@<JjS6arrm6ruomoCQJI m1iba:§oo1c006c:fu. ( 3) 
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•! 

Give a suitable term for tho g1ven I ((j):)6)tJ ®wH§¢~ ml:ilcl..!D.Jm6N3di.\~')' mmm6a:w::>~,)QlOm> 

definition. (Q. 18 and 19) 

18. Development that meets the need 

of the present generation without 

compi·omising the ability of the 

future generation to meet their 

own needs. 

19. The p ositive square root of the 

mean of squared deviations from 

mean. 

20. Group the following features 

pertaining to the economi es of 

India , China and Pakis tan. 

(0 1 . , - ' . , c · ~ · · ne-;-c.tnJ.d norm, very mgh tertlllty 

· rate, commune system, high density 

of population, economic refor ms in 

1988, E< o~~.wn~' ~' C reforms in 1991). 

21. Find the odd one and justify your 

answer. 

a) Collection , organiza tion, 

presentation, inflation 

b) . Globalization , socialization, 

privatization, liberalization 

c) Range, quar t ile deviation, 

111.edian, starTdar d deviation 

d) A coJlege lecLn·sr. a peon in a 

villa ge Ol!l c ei a clom estic 

servant , a n.ltrs e 11:. a. govern111e:r1t 

I 
l 

(1) I 
I 

18. 

I -g I L ' 

i 
(1) l 

i "'" j ..::0. 

I 

I 
l 
I 
! 

I 
(4)! 

i 
121. 
I 
l 
I 
i 
~ 

hospital (~1) 

22. Distinguish beb<;een formal sector 

workers a n d informal sector 

workers. 

K-45 

(2) 

i 
i .-H} 
';!, .:.;, 

! 
i 

@'IQJOJC/ll,)60Bci0 m1o<~OJROm6@21 rg(/ll r3ilc£)6)" 

® S (&\:l Ul :J ,{b D Cil)[l oJl W (O'ffii1 nfu ~ m1 ~ ®'0) 

® 8.i m,; om.'6 61s (lJ'@OJ cro,\f;~n ::m ml oU~ clJ 86 ru orro 
<£'o<flcn>,!,(Tn oJl<tMTUcr)o . 

(ll)QJ0f®(() QlCJ C.D.j(ilf1f)i6l)~J OJ{b \~ OJl!l..J elffi 

anw~60B§J61S OJiD~2 illJf?Jo. 

\6J (0 6 em OJ 

oJOt£l:>lcrun o® nQ)(ffi1&-u"B6XD LWJ\J ®1ro1c&6)6cm. 

( otj}:f.'b (ll)ffl.DOm m(Q.Jo, ~cwrorm 6lnDrogle.flR1 

nflm<BG)', .B:l f.n,)Jsn'i\ (]l)lffiJBOCWo , nfBROJJo 

<BoJSl<W l!;l(lJ(fl):)lffi®, 1 f188-affi \11)0m.Jcoroilcfr> 

tW.\•,l:J1ffi'ti6i~G::J (l)(VJ®" cEb6/6ITS\m11 W>Of06TDo 

OJ1ClN3 0JOG&Sl6cf.h. 

rJDO.JW;f06IY>o., o.J6rTJG:l~Sf00CJ:jo. 

b) (BJQi<g(f)()§_()JO~cG-6)ffi6f'Do _~ 

,.. , 'I""·' ~ " 8, < " ~ • n "-'l. il)j(U.) \..liliTO , f{.8v(k-{g(U)Ct.~CJ) (lj),(LJIC2CQ)o31 t.!U. 

rl ) 6;~(1) 6 (g (,:e~o i] §. ~?." (G1Q (J) ~-oo_j f..€~ db ) oil \Z ~ S6u 

ffi@oJ5l(TD16) EJ o..J(}~GifO~ (1J1§6Cg()JflJcOO:)fb, 

®1l m ''0 o .. J D3 0 (Q\ 63;, '2 G 61..1 2.1 6) ® 0 <f)9J 0 §_1 cfr> 00 , 

· r.ttj)rm1o.J ro;a:aHe.J~ OJ,)®,)::l<T06>0lm.il'? 

(1) 

(1) 

(4) 

(2) 

(P.T.O.': 



23 . In a city, the weekly observations 
made in a study on the cost of living 
index are given in the following table : 

24. 

Cost of living index 
~o.ll<ID 6l.!l.Je.Jru rru~.!l.Jc&.,o 

140-150 

150-160 

160-170 

170~. 180 

180-190 

190-200 

Total 

Draw a frequency polygon for the 
above data (without constructing 
a histogram). 
Many · poverty alleviation 

programmes are implemented in 

India but still a large number of 

people are below the poverty line. 

Mention the shortcomings of 

poverty alleviation programmes. 

25. When the coefficient of correlation, 
r = 0, there 1s .......... .... .. .. ... . 
a) positive correlation 
b) no correlation 
c) negative correlation 
d) none of these 

26. Find the simple aggregative price 
index for the following selected 
commodities. 

(3) 

(3) 

23. ®06l':f' ®cm1ro1cB€l.?,cm nJ§1ce:,w1afO 63<n.?, 

24. 

m CJ) (l) Cl5'®16l eJ o.Jl ru1 w ai@) Y'v -?zl. ce:, gl6l eJ 

~ oJl ®6l.!l.J eJ OJ.?,c&.,UO 6lc&.,OS.?,Cl5'®1 ro1d%'J6(1Tl.?,. 

Number of weeks 

a!'@<i .g,Jc&.,m6ls nm~o 

5 

10 

20 

9 

6 

2 

52 

63<0.?, ((!'@OJ~(QT11)1 61lJnD.?,ISc!,~O ( Lnllic&.,Jdoffil1 

~nJ0~1(1)61"ftl) QJ(l)a%).?,c&.,. ( n..01ffilvGf)Ol(l)0o 

. (lj(l)mJa%)06l®) 0 

~cm:,w1<"0?1 BO<n1LB,') m1mamoiO~mel5'®1mv 

WO<OO§o n...IBJ.)®1ce:,cJD ms<;l:[JeJOa%>1mJ1§66l"@. 

ntj)cm1tn.?,cmOe.J.J,o BO<n1LB,') C:<06'.:JWua%>6 . 

®06lY'W.J,~ClJ<0.!,6)S otJ)~o ~G~OY'.?,o 

c&.,JS.J,®eJ06TTr_ BO<n1 LB,) m1i0Cll1loro~m 

nJ B.l.) ®1 em ~6 6l s 

.!l.JJ 6'051d3i'lo 6m1cB€lc!,c&., . 

25. ~ce:, o o1~e.Jns:Hio W.J,6m:::>ffi>o nJ4~:,mowo<"O?! 

(r = 0) 
a) c:nJom~RJru~ ffilnD6YlJ(TU)o 

b) ffilnD6YlJffiom1~ 

c) 6lffi(I)Aio..l' ffilnD6YlJ(TU)o 

726 

(3) 

{3) 

(1) d) ~6l®Offi).J,i1l~. (1) 

(2) 

26. ®06lY' 6l:e,os.?,Cli'Ym1~1.oo6cm · ffil:::>Wm60!3m6ls 

~on.llcio a!'@l(I)Ol(l)fliruv 6l6llnJm5 ~<ibcwcfu'cru 

(simple aggregative price index) 
c&.,6TT)£000<00.J,c&., 0 (2) 

Item I ~mo Price in 1991 Price in 2001 
1---· 

A 20 40 
1----

B 50 I 60 

c 40 QO 

D 20 
I 30 

L__ 

K-45 8 
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